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Model Test One

Part I Listening Comprehension (20 minutes)

Section A

Directions ;In fhi.s sectiony you will hear 10 short conversations. At
the end of each conversation, a question will be asked
about what was said. The conversation and the question
will be spoken twice. After each question there will be a
pause. During the pause,you must read the four choices
marked A), B), C) and D). and decide which is ‘the
best answer. Then, mark the corresponding letter.

1. A) Peter is going to New York next week. o

Q/Peter is going to London next week.
C) Peter went to London last week.
D) Peter went to New York last week.
2. A) He is doing some housework.
B) He doesn’t know it is late.
C) He can’t sleep.
o J He has to finish his homework.

3.A) Mary is eating chocolate cake.

B) Mary doesn’t like chocolate., e ; SR
) Mary has a toothache,
D) Mary is unhappy. RS S

4. A) At the train station.




B) On a plane.

C) On a bus.

D)In a department store,
5. A) He wants to work in his spare time.

B) He wants a full—time job.

C) He just wants to talk with the woman.

D) He wants to go to university.
6. A) She is lazy.

B) She is doing her job well.

C) She has been working there very long.

D) She is hard to please.
7. A) He is a strange person.

B) He knows the way. .

C) He doesn’t want to tell the woman where the post office is.

D) He is new in the area. '
8. A) The young man was not talking.

B) The young man was very rude to the woman.

C) The young man didn’t see the woman.

D) The young man was still talking even though the film had

started. '
9. A) 45 minutes,

B) 30 minutes.

C) 15 minutes.

D) 80 minutes.
10. A) He has always been a poor student.

B) He used to work very hard.
C) He is a good student now.

D) He is as lazy as ever.

o



Section B

Directions; In this section, you will hear 2 short passagers. At the
end of each passage, you will hear some questions. Both
the passage and the questions will be spoken twice. Af-
ter you hear a question, you must choose the best answer
from the four choices marked A), B), C) and D) .
Then mark the corresponding letter.

Passage One -
Questions 11 to 12 are based on the passage you have just heard.
11. A) Near Fred’s office.
B) At the entrance of the theatre.
C) In a restaurant.
D) At home,
12. A) Lost the tickets
B) Left the tickets in the office
C) Lost his briefcase
D) Left his briefcase at home

Passage Two v
Questions 13 to 15 are based on the passage you have just héard.
13. A) Car B) Clothes
C) Suitcase D) Paper
14. A) Those who are getting married.
- B) Those who travel a lot.
~ C) Those who can’t afford clothes. ' . L
D) Those who don’t want to.wash their. clothes.

15. A) To make a car look more spacious. ., . -

e - - - i Mo e e~ -




B) To make the spare parts.
C) To change the structure of a car so that it can be used for
ads 1A vexigeszpurposes. «
rdtodD)“Foithange one car into two.
A soiwst e
PartaF2oReading Comprehenswn (40 mmutes)
. (d hos ( e
Directions : There are 4 reading passages in this part. Each passage is
followed by some questions. For each question there are
four suggested answers marked A), B), C), D). You
.byssd  should choose the ONE best answer and mark the corre-
sponding letter.

Questions 16 to 20 are based on the following passage s

At the moment (1981) a revolution is going on.in the Ameri-
can automobile world. In the 1960s there was a change in-fashion in
favor of small cars. Many small and medium — sized cars are’ still
beihg imported, especially from Germany and Japan: New:Ameri-

can manufacturers have followed the trend. They-also have instruc-

‘tions from the Federal Government to produce cars which burn less

gas. The American motoring public are beginning to realize-that in
an-bilﬂc’ﬁisis ‘an outsized car is a liability. In fect, the nightmare of
the American motorist is a gasoline shortage. They remembet the
energy crisis of the 1970s. As long as trouble hangs over the Middle
East, this nightmare could once again become reality. The USA. is
dépendent upon oil for the vast majority of her.indistries and most

. of her transportation and heating.! She .gets her own oil from the

\Gulf of Mexico-and from-/Alaska,and:from other oil fields still in

V&gg%m in various partaof:the UUSA! but she canmofl pradice

T
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nearly enough to suit her multivarious qeeds.:
Americans depend on the automobile like nwsother psople{ The -
total mileage traveled by American motoridiscinzongssear isfdbodt -

one million miles.

16. There were in the American ancomobileworkdin1981.

A) many car accidents

B) large quantities of autombiles produced
g%.change in'car’s size

9 a very serious oil ctisis -
17. What did mototing public realize?:
"~ A) They would never import cats:éibamblapani:
B) The imported cars are very badhadigxpentive
;}/ They must produce small cirsnwhivhy burndbssigas
‘D) They must fight with foreigiunsanidsstovbisy
18. In the sentence " an’outsizedseatodel a 2liabilith!t s hero!#:hiabilitg 2

means

y wastfulness
- B) fashion -

C) tendency
“ D) requirement
19. American manufactures haverftiowedthdotsend :
A) because small cars afd ¥sshisnableic
B) by Government’s ingtiudtignyod1 o
C) out of energy ‘conservativis!
DY All of above _
20. The last paragraph suggests thian:
?& A) America is a country on the move
{2 B) Americans like 456 tedlined 9@ilivers_



-C) Americans have traveled abroad teo much
. D) Americans are too lazy to walk
21. This passage is maily about
A) American automobile
$ B) Energy crisis
C) Energy conservation
D) Source of oil

Questions 22 to 25 are based on the followixtg,pas%gs:

A century ago, people worked long hours in factories. Farmers
worked from sunrise to sunset. There was little time for rest or
play. Only the rich could afford vacations. Today this has changed.
More people now have tithe to enjoy good music,art,and literature.
In addition, modern inventions have lowered the cost of enjoying
these pleasures. Millions. of people can enjoy music on phonographs,
tape recorders, and radios. They can_also watch and hear the great-
est performers in movies and on television.

New methods of printing and selling books have led to a book
—reading revolution. Paperback books and magazines are available
almost everywhere. Hundreds of millions of paperback books are
now sold in Europe and America. Today, anyone can build.a home
library. For the cost of an ice cream soda, a person can buy a copy
of Shakespeare’s Hamlet or Homer’s Odyssey.

Today, people can use their free time, to visit museums and at-
tend shows and concerts. Many large cities in Europe, Asia, ‘and
America have built their own centers of culture. They have orches-

tras,opera companies, and art museums.

"¢, Today people according (o the passage,



_A) have more leisure time
) become more sensitive to art
C) get richer
D) are well—-educated
23.From the first paragraph we learn that __
A) this century is a century of inventions
modemmventions contribute to the change of yeople s life
.”C)xp_uslc,hterature and art have changed the way of living
D) modern inventions cost. little money )
24, The second paragraph says.that
;A) it was difficult for people, to buy a book befom
B) people in the last century were very ignorant . .
C). books are over.printed today .. ... S
. JDAt's easy. to buy and read a book. S
25, The passage mainly talks about ____
A) leisure time | . . .,
" B) how to spend letsure time_
C) great inventions
?} cultural life of modern people

Questions 26 to 30 are based on, the following passage;. .- . ;

The spread of culture to all people js one past of the modern
cultural revolution. A second part is the mixing of cultures of differ-
ent parts of the world. Today,tecnagers in Japan listen fo records
made in. the United States. People in India go to movies madgyin I-
taly and Germany. If you walk into an; American art museum, you

“will probably find examples of African sculpture and Chinese and

Mexican paintings, - s (0
Television also has led to cultural mixing. Televu;on W

o
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that Americans see in one year are shown in Edrope,A‘f“ricé,énd A-
sia the next year. Americans,on the other hand, can sit home and
see on television a dance from Java, an opera from 'Germany,or an
orchestra from Brazil. They can see a bullfight from Spain,or per-
haps the Olympic Games from Montreal, Tokyo, or Rome.

Modern art, music, and litérature are always chariging. Some
of these chaniges are difficult to understand.’ A‘ persord who looks at
a modern  paintirig or sculpture will often feel that it does ot make
sense. Modern music may sound strange aiid unthusical. If a person
reads a book written in a modérnistic style, “he of she m’a‘y‘* have
trouble understmdmg it. Even: today s mov:es are ‘sométimes’ hard
to understand. ° ’ " '

In the past, many scientists dnd’ inventors have been called
fools because they seem to have strange ideas. Yet they opened new
roads in science. It is much the same with many #odetn ‘artists,
musicians, and writers. They have new and différent ideas; ° ‘They
are opening new artistic roeds. They have somef:hmg Hew to say

about our world.

26. “Modern culture revolution” refers to

A) the sprei@adainGigict tutdesy
ﬂ’iﬂj&é%hr@ﬁfﬁmﬂtﬁ@f’q Hs o3 swulus Yo bssygs .
1911 iheomalisdnasispredr? 2 115q bnoosz A .noitulovei stosius
b1y e Wb iees i badRSsedingboT -blrow sdi Yo a118q 109
Hr nisthisEne ddsipt e i diteRinbl gosil gt 8 Amtidtdanii i mbRer
HOY urkf AP A égs,ﬁﬁpgamla&gpm Asw vov Il nsasO bas s
bas Rgegpﬁa&ﬁg s1wiqluoe nssintA IByaigimmge brit vldsdog liw

“C) invasion ' D) conflict -23Mi30isq nssixsM

R:“WQ;ﬂqi{tvﬂsT apixim Iswilus o3 bel 2sd oels noizivelsT



A)/rarély changing B) pure nonsense -
N \C quite confusing D) much identical
29)The passage can be best titled as .
A) Culture is always changing
1 . B) Different Cultures in the World
Q)/Modern culture
D) The Dialogue between cultures
30)The author seems to ___ the change.
A) understand
B) disagree with
C) protest
\9) admire

Questions 31 to 35 are based on the following: passags.;:

The atmosphere forms a major partucfithe:edsvizonniént to
which life responds. To this extent, it has the chhracteristicsiof a
great natural resource. All over the world;ielilmaltesinffhsences the
intricate balance between plant’ lesand lowef: formshof ienimal Tife”
Plant growth and productivity reaét sharply tod complexseomBina-
tion of temperature and lmoistire.i!

Human anddinignatrdide-srerinfldenceds by: theit reactiors to:the
atmospheric envirgnment,Floodsg; vicleat wind-storms; -drbughts,
killing frosts, ‘andthierppobletslwhruirspollutidsr: hpvel all xoaddccas
sion,influenced modern society.

On first consideration, the scienmtific problens of theatmosphere
seems to be extremely complex. bHowevery-iif:-tHe: problem 4s a
whole is analyzed and divided into a serieshof Separatk preblestd, it
becomes less formidable. in simplest terms there are four major
parts to the atmbspheric problem: observation, understanding, pre-

o -



diction and control.

31. Plant growth and productivity depend on -~ -,
_A) temperature only
B) rainfall and wind
C) temperature and moisture
D) air pollution
32. Modern society is influenced by _ .
A) air pollution enly
B) droughts and frosts especially
C) both storms and floods
D) all natural and man —made disasters
33. d“formidable”in line 14 here means
A) complex in form
B) formal and natural
C) easy to do
- D)ibatd to deal with |
34. The main idea of this passage is that.; .
A) atomsphere has much to do with the living:things
B) plant, human and animal life depend ion-each other
C) there are four parts to the atmospheric preblems
D) balance of ecology is lost in modern society: . - .
35. Though the problem of atomsphere'is complex, it .
A) is easy to be solved PR ‘
B) can hardly be ¢oped with -
:C) can somehow be controlled
.D) has to be analyzed -

+10 -



- Part II Vocabulary and Structure (15 minutes)
T
Directions : There are 20 incomplete sentences in this part. For each
sentence there are four choices marked A), B)» C) and
D). Choose the one answer that best completes: the sen-

~

tence. For example;

The story was so touching that I could hardly _ - my: tears.
"A) hoid on ' A ‘B) hold up
C) hold on to D) hold back. . =i

The best answer is A) SLE

Yoo - T T

?36.\‘ The police have decided to the traffic accident further,

pa—g

I& A) look into B) look up i
C) look at* . D)look for - ¢
37. He was knocked down by a car and badly __
A) injured : - B) harmed :
C) damaged . D) ruined e

38. American parents teach their children that itis- . . to tdk wmh
their mouths full of food." Sl ey

A) strange : _B) dangerous .. o
C) unhealthy : : : D impolite -
39. John sold most of his belongmgs "He has scarcely left in
the house. : Ee S
A) everything o ) 4? anything: ' . -
C) nothing R ) something ; . i -
4\9 The ancient Egyptians compared the beginning of life . : the
» rising of the sun. A Lo BRI B o
A) with : B) for
« 1




€) to D) as
4L He had wried everything.but it made litle

A) difference B) effect
-0 outcome . D) result
42’ She is leaving her husband because she cannot: _ his bad tem-
per any longer. // :
A) catch up w1th B) come up with
C) put up with : D kee;Lup with
\4 She spoke very _ about how they had lived during the war.
A) sharply B) directly
C) closely D) briefly -
44. This is the refrigerator __ we have had so much trouble.
\:}i) ‘with wheih B) at which
C) of which D) to which
45. He knew the documents could be of help to took over the
job. : :
A) who B) whom
C)whoever ‘ D) whomever
/46./May 1 stop work a little earlier tonight?”“No, you ___ .”
= A) needn’t B) won’t
' C) mustn’t S D) shouldn’t
47. Ttis __ work of art that everyone wants to have a look at it.
A) so unusual ' S B) so an uunusual
C) such unusual \p) such an unusual -
48. 1f we had been more careful, we ____ much better results now.
A) would be getting \Ey\&ould have got
C) got AT . D) had got
49. The children went there to watch the iron tower
N A) exect : 4 B) erecting
«I3 -
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